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(Part - 1) zZzw
(General Knowledge) (¬x¥â] i)

¾Ã¹Y@*ì? (Frontier Ghandhi) uu~Ç0+S .1

ø-VL (B) ñÑ**Z1ZæxMiZ� (A)

u¦Z£{y (D) {y�ZBg{y (C)

�g/gtyÆÇ}ÆZyzZgÅ/ÁÐÁX�ãec? .2

�w 35 (B) �w 30 (A)

�w 21 (D) �w 25 (C)

L��q-ó¾ÐzZhì? .3

�z�|ÅaZzZg(,JäÐ (B) gZg]ÃUäÐ (A)

�g½VÃXäÆa (D) pZ&Åqª(Ã4�äÆa (C)

¤/ZÃV$¾ÐáCì? .4

Ã%Ð (B) ßìÐ (A)

»g0Ð (D) jÐ (C)

Zq-¡qZK̈yÆ�~Hpy�@*ì? .5

{ 8-10 (B) { 3-4 (A)

{ 5-6 (D) { 12-15 (C)

½§{§Æ'�X .6

eZËfZ�@ (B) Z1ZæxMiZ� (A)

ñÑ**(�ã (D) u¦Z£{y (C)

¹VzZµì? "ICRISAT" .7

Cgz (B) 5�� (A)

Z£M!*� (D) ©gM!*� (C)
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Z%OZ¯Z`ZjjîyÐ�'ì? .8

2021 Z~ 30 (B) 2021 �g~ 30 (A)

2022 �Ûzg~ 20 (D) 2022 Z~ 30 (C)

LL¸ò-x½óó�'oc*Y@*ì? .9

âÞ 25 (B) âÞ 11 (A)

�Ûzg~ 14 (D) �c 11 (C)

¾oÅ�́ì? (Lira) 8Z .10

²Zt (B) Zk,Zy (A)

F,Å (D) ¢ (C)

(General Urdu) (¬xZg�z ii)

g!*¦¾i!*y»Âì? .11

ÃgÏ (B) Zg�z (A)

y~ (D) ²! (C)

ÅX9�? (Pronoun); .12

b (B) 0*õ (A)

eg (D) �z (C)

iZ@Zq-ZY±»ìXz{p[7,kìXZy�zÓV~;ìX .13

ZY (B) iZ@ (A)

p[ (D) z{ (C)

>ÅgZñÆ_.Zg�zÅ«"ìX .14

{Û!*g~ (B) g�!ZÜtz¦s (A)

Ñb%̈[Z¹[ (D) cZ`Z°^¨4è
IG

GE (C)
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cZ`Z°^¨4è
IG

GEÆ'�X .15

|]pZz¦ZÑs�$@ãò (B) |]Z÷Æzò (A)

»[÷«@ (D) |]pZzÈ{âZiu�gZiò (C)

qgzfs~¾Â»Z5�g�&ì? .16

Z
]45

ÿ

G
E (B) Z� (A)

ZÑ (D) Z

$�5
ÿ

I

E (C)

gZ]»��ìX .17

�zP (B) �y (A)

ð (D) �áx (C)

Zg�zñvHì? .18

èo»ù· (B) ZYâV»ù· (A)

¹EV»ù· (D) ¸V»ù· (C)

].h+Zg�z�»!*ã¾Ã¹Y@*ì? .19

ñß~�Z/ (B) u¦Z£{y (A)

ñÑ**Z1ZæxMiZ� (D) (�ã (C)

%iZZ�Zv{V¸(̈"ÅG¾à~ì? .20
ÉÀ�3íE (B) �� (A)

È0*w (D) ©gM!*� (C)

(General English) ¬xZôm,~ (iii)

21) When the principal entered the class, a student '''  on the blackboard

(A)  wrote (B)  was writing

(C)  writes (D)  is writing
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22) She ''''  T.V when her husband came.

(A)  watch (B)  was watching

(C)  is watching (D) watches

23) Find the correctly spelled word.

(A)  Reannaisance (B)  Renaissance

(C)  Rennaissance (D) Renaisance

24) Select correct word.

(A)  Aceleration (B)  Aeceleration

(C)  Accelaration (D) Acceleration

25) His office is '''  the corridor.

(A)  on (B)  in

(C)  beside (D) along

26) My house is '''  the third cross roads after the bridge.

(A)  on (B)  at

(C)  over (D)  in

27) What is the opposite of "SAGE".

(A)  Snob (B)  Egotist

(C)  Fool (D) Rogue

28) Select the most appropriate antonym of the given word - EMPATHY

(A)  Sympathy (B)  Appreciation

(C)  Warmth (D)  Apathy

29) What is the most appropriate synonym of CHASTE?

(A)  Liberated (B)  Pure

(C)  Divine (D) defiled

30) Choose the word which best expresses the opposit meaning of the "SAPIENT".

(A)  Foolish (B)  Wise

(C)  Wasteful (D)  Culvert
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(Teaching Aptitude) D+g+gDy (iv)

»ZEwHY@*ìXZ#: (Discussion Method) c§j»g .31

ñçqÂ� (B) ñçqM�y� (A)

tX (D) ñçq¹Â� (C)

D+gö»ZëÑìX .32

Üsy»�Ûzr (B) ÎWÅ&¢A»�Ûzr (A)

¥â]�ÛZë�** (D) �zâV (B) Zzg (A) (C)

D+gö»£gªCÙ�@*ìX .33

#Ò)®)~¥Åq¢~Ð (B) ¥Æ0*k�äÅ¢{5å EGÐ (A)

#Ò)®)~¥Å{ñÙÅæ]Ð (D) ¥Æ7i�ÎZÑ]Æ£gÐ (C)

Zq-ZhD+göÆaH¢zg~ì? .34

(Remedy) ´` (ii) (Diagnosis)øá (i)

(Feedback) gZñ (iv) (Direction) 9� (ii)

qgzfsÃe~ÐÐ9�Z[»ZN[�,X
(ii) Zzg (i) (B) (iv) Zzg (iii) (ii) (i) (A)

(iv) Zzg (iii) (D) (iv) Zzg  (iii) (ii) (C)

½Zq-¤!gM!ìX .35

fZCp~Æa (B) �Yp~Æa (A)

tX (D) pDp~Æa (C)

M\yàCeT�óYV�X .36

yZLCÐZC»x�ZYì (B) D+g+»x~IVp[Q� (A)

�zuzVÆ�VÃpl�N�pÙQì (D) yÃ�.ÞZ�Zxâ**Y@*ì (C)
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Zjw~ZL*yÅD+göÃ4¯äÆaX .37

¥ÃÎZw7{ÆaÃu�,Ð (A)

¥ÐñZ�*yÃ!*g!*g�CÙZäÃ}Ð (B)

CYÃ*yyÐ7,|�MäÃ}Ð (C)

CÐ#Ò)®)~�»x�äÃ}ÐZzgD+g+£�ÅgzÝ~Zy»ç�g�,Ð (D)

Zq-ZiyÆa�&Ðic*�{¢zg~ìX .38

ZÐÚ7,_gxec (B) ZÐtgxec (A)

ZÐZL*y»âCÙ�**ec (D) ZÐZiÀ}<ec (C)

M\Z,gziÇg»ZN[�**e�ÐX .39

�VM\Ã¹MgZxA (B) �VM\ÃjyqÝ� (A)

�VM\Ã¹¤�ÜZzgZ(gZ]qÝ� (D) �VM\Ãp[�zª(A (C)

Zq-»x[yÆaIÆZßßV»D¢zg~ìóYV�X .40

ZkÐ»[ÃM�y§jÐ�ä~æ�Qì (B) ZkÐz�ÜÅY�Cì (A)

ZkÐ»[Ã�N¯ä~æ�Qì (D) ZkÐZjwÆZOx~æ�Qì (C)

(Mental Ability) f6&¢A (v)

qgzfs~egàzVÆ**x�b��Zy~Ð&àË:Ë§jÐZq-��X�àZyÐZµìZkÅÙ|#�, .41

Z7g (B) ÉÀ�3íE (A)

` (D) %Z�M!*� (C)

MPSV ............... �l�,X (Letter) §m,»Z�wzs .42

Z  (B) X (A)

A (D) Y (C)

2, 6, 12, 20, 30, 42, 56 ........... qgzfs§m,»Z��H�Ç? .43

64 (B) 60 (A)

70 (D) 72 (C)
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D Zzg E, A Æ�gxy~9ZìX C Zzgþ F, B ~9}�X (Circle) Zq-�Z],{ F Zzg A, B, C, D, E b¿ .44

Æ�gxyÃyì? F Zzg A Æ!*N§sìX D, F Æ�gxy~9ZìX
B (B) D (A)

C (D) E (C)

»Ãe�ÇX CHILDREN óA$ VGCEJGT Ã��Hì TEACHER Zq-ºmÃe~ .45

EJKNFTGP (B) EKNJFTGP (A)

KNJFGTP (D) JKNFTGP (C)

UgÅ/ZBÐ�ztìX&�w¬ZkÅ/ZBÐ&kH¶XUgÅñ��{/ìX .46

�w 8 (B) �w 10 (A)

�w 12 (D) �w 14 (C)

ÃÉ½0îG:Xw::ÉÀ�3íE:'''? .47

gZx7g (B) M0+OZ6,�÷ (A)

È0*w (D) ZF,6,�÷ (C)

qgzfs~ÃyZì? .48

è (B) â (A)

å (D) �~ (C)

ÎZD¶KyÃps�äÆaÃe~�b�o�&��w»ZN[�,X .49

y:''''? Çñ:�z�|ßÅí:ß
Äz� (B) (Marks)� (A)

5i#Ö (D) Õ (C)

18, 39, 75, 151, 303 §m,~Ðß��l�,X .50

18 (B) 39 (A)

151 (D) 75 (C)
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(Part -2 ) z�zx
(Mathematics) gc*è

Ã¾y6,��D�? x- Ã5äzZáèoÃ"g (1,9) Zzg (2,5)y .51

(x,0) (B) (14, 0) (A)

(3,14) (D) (13/4, 0) (C)

y�X (a,b), (0,0), (-a,-b) .52

[ÆgZk (B) ëâ (A)

�zâV (B) Zzg (A) (D) ëR (C)

Ã5äzZáâ»)zZ]ìX (5,-2) Zzg (2,3)y .53

10x+6y-19=0 (B) 5x+3y+19=0 (A)

X+y-19=0 (D) 5x+3y-19=0 (C)

Æ�gxy»iZztìX  3y+x=2 Zzg y-3x=5 èo .54

600 (B) 1350 (A)

450 (D) 900 (C)

»Û¢ìX x2+y2+12x+8y-48= �Z],{ .55

12 (B) 2 (A)

8 (D) 10 (C)

Ë;�1!Æa�@*ìX .56

e > 1 (B) e = 1 (A)

e = 0 (D) e < 1 (C)

f '(x)=? Â f(x)= log(Sinx) Z¤/ .57

Tanx (B) Cosxþ (A)

esinx (D) Cotx (C)
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Å�g�ÏX  dy /dx Â y=Tanx3
Z¤/ .58

3xTanx3 (B) 3xTanx2 (A)

Secx3 (D) 3x2/Cosx3 (C)

»�gìX .59

ab (B) 1 (A)

a/b (D) b/a (C)

Ð�Ûd$F,Ã,ìX xy- »R (3,5,4)` .60

3 (B) 12 (A)

5 (D) 4 (C)

log1=? .61

2 (B) 1 (A)

-1 (D) 0 (C)

¾Æ',Z',ì? 34-n .62

64/3n (B) 81/33 (A)

643n (D) 81/3-n (C)

gi++Hì? .63

Zz�ðÅZ»ð (B) iZztZ»ð (A)

�Z],{»� (D) gKÅZ»ð (C)

�ÇX (A-B) Æa B={6.7.8.9} Zzg A={1,2,3,4,5} �Â U={1,2,3,4,5,6,7,8,9} Z#MÃ¹ÃL .64

U (B) A (A)

(D) B (C)

2xx = 512 Å�gX�ÏZ¤/ 'x' .65

8 (B) 128 (A)

4 (D) 2 (C)
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Å�g�ÏX k Ç�gÆa Å x Â 3x2-6x+k=0 Z¤/ .66

(B) (A)

Zy~ÐÃð7 (D) K < 3 (C)

Å�g�ÏX 3a×7b áZi~�Â 'b' Zzg 'a'� Z¤/ .67

12 (B) 0 (A)

21 (D) 4 (C)

Æ�gxyiZztH�Ç? a »�¢[qÝZzg a Zzg b �z\)43ðGGV .68

900 (B) 1800 (A)

450 (D) 300 (C)

Zq-Ç�ì( x )Z#� »gfH�Ç? f(x)= x2+4 .69

R+ (B) R+-2 (A)

R (D) R+2 (C)

Å�gì: Cos 1050 .70

(B) (A)

0 (D) (C)

»�gìX Sec2650 - Cot0250 .71

(B) (A)

2 (D) 1 (C)

Æ',Z',ìX .72

(B) (A)

2 (D) 1 (C)
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',Z',ìX .73

(B) (A)

(D) (C)

Æ',Z',ìX .74

25 (B) 1 (A)

10 (D) 24 (C)

Z�ÛZ�6,�XÌV¯ðY$Ë�? 3 ±YVÅ)®)Ð 2 ±ÃVZzg 3 .75

9 (B) 5 (A)

10 (D) 12 (C)

ìÂZk»ªgÁHì? 22 zZVgÁ 7 ìZzg 10 »�ZgÁ A.PË .76

4 (B) 7 (A)

 5 (D) 6 (C)

Æ�gxy»iZztìX y=mx-5 Zzg y=mx+4 �èo .77

300 (B) 10 (A)

900 (D) 00  (C)

¾̂»)zZ]ì: x2+y2-4x-6y+4=0 .78

�Z],{ (B) 0*gZ1! (A)

[ (D) �èo»�hZ (C)

»¯¾ìX y2 = 4ax 0*gZ1! .79

 (0,4a)  (B) (a,0) (A)

(2a,0) (D) (4a,0) (C)
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Å�g�ÏX .80

2/3 (B) 2 (A)

0 (D) 0 (C)

~Ãy�ģ9ì? HM Zzg AM, GM Ë��Z°Z��Æ .81

(B) GM+HM+AM=0 (A)

HM=AM/GM (D) GM=HM+AM (C)

�@*ìX e < 1 ¾Ã&ëELv~ .82

Z

&Ó4
ø
GF (B) 0*gZ1! (A)

Zy~ÐÃð7 (D) ;�1! (C)

Å�gìX .83

0 (B) (A)

(D) (C)

Å�gX�Ï? k~ 9x2+16y2-k=0 Zq-Z&Ò54ø GGF»)zZ] .84

16 (B) 9 (A)

0 (D) 144 (C)

�ÇX Â y=Cosec x2
Z¤/ .85

 2cosec x2.Cot x2 (B) 2Cosec x2.Cos x2 (A)

2Cos x2 (D) -2xCosec x2.cot x2 (C)

Â Z¤/ .86

(B) (A)

0 (D) (C)
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Ð�Ûd$F,Ã,ìX  -y »"g (4,9) ` .87

9 (B) 5 (A)

(D) 4 (C)

Ë%�~ZkÆIZzgzF,»Ú�&�@*ìX .88

(B) (A)

2 : 3 (D) 1 : 2 (C)

Ë[ÆÛzãiZz-V»À¦H�@*ì? .89

1800 (B) 3600 (A)

2700 (D) 5400 (C)

�zZ»ðÆ¢zZá�Z],{Ð�ezWF,gKzZá%,»gK�Ç: .90

2 (B) 1 (A)

(D) (C)

Æ�gxy)�¢[qÝH�Ç? Zzg .91

ab (B) a (A)

0 (D) ab2 (C)

ÐeZá�q�ÅMðìX (3,-4) 6,` 4x+3y+5=0 â .92

60 (B) 1 (A)

 5 (D) 12 (C)

ù[ÆgZk�? (3,0) Zzg (0,4), (0,0)y .93

)z~ZÑHq[ (B) )z~Z�:[ (A)

Zy~ÐÃð7 (D) �ìZ²Zzt[ (C)

ÁÜzZáÃLÆ0*zgÃL~ÀÄÁÜ�D�? '4' .94

8 (B) 4 (A)

 12 (D) 16 (C)
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Å�gX�Ï? x ìÂ xC7=xC9 Z¤/ .95

63 (B) 2 (A)

7/9 (D) 16 (C)

13+23+33+43+………………..n3=? .96

(1+2+3+4+………n)3 (B) (1+2+3+4+………n)2 (A)

Zy~ÐÃð7 (D) 3(1+2+3+4+………n) (C)

H�Ç? 33% » 'x' ìÂ 44, 220% » 'x' °� .97

88 (B) 66 (A)

6.6 (D) 8.8 (C)

»mDgc*èÅ¾�ácÐì?  (Euclid) -®Ò5åGH .98

D[ (B) ZrZY (A)

Ñgc*] (D) Ø¢a~ (C)

Zq-�ì_5Ò5å GEHgZq-ÍáÃ�H�Zì�zâVÆk»Ú�&ìX .99

5:6 (B) 4:3 (A)

1:2 (D) 3:2 (C)

Ñ~gZâ�»Y�zð�Hì? .100

1729 (B) 1792 (A)

9217 (D) 1927 (C)

///

B.Ed (Mathematics)/E.T/ 2022

15



Rough Work

B.Ed (Mathematics)/E.T/ 2022

16


